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NEW QUESTION 1
An engineer is designing a wireless deployment for a university auditorium. Which two features can be used to help deal with the issues introduced by high AP
count? (Choose two.)

A. TSPEC
B. RXSOP
C.TPC
D. LSS
E. DFS

Answer: CE

NEW QUESTION 2
A network administrator of a global organization is collapsing all controllers to a single cluster located in central Europe. Which concern must addressed?

A. Some channels may not be available consistently across the organization.
B. Different RF policies per office are not available in this configuration.

C. Syslog must be configured to the time-zone of the NMS platform.

D. Centralized controllers cannot uniformly authenticate global users.

Answer: C

NEW QUESTION 3
An engineer must ensure that the new wireless LAN deployment can support seamless roaming between access points using a standard based on an amendment
to the 802.11 protocol. Which protocol must the engineer select?

A. 802.11i
B. 802.11ac
C. 802.11r
D. 802.11e

Answer: C

NEW QUESTION 4
A high-density wireless network is designed. Which Cisco WLC configuration setting must be incorporated in the design to encourage clients to use the 5 GHz
spectrum?

A. Band Select

B. RRM

C. Cisco Centralized Key Management
D. load balancing

Answer: A

NEW QUESTION 5
A wireless engineer must optimize RF performance for multiple buildings with multiple types of construction and user density. Which two actions must be taken?
(Choose two.)

A. Configure FlexConnect groups for each building.
B. Configure WMM profiles for each building.

C. Configure AP groups for each area type.

D. Configure RF profiles for each area type.

E. Enable DTPC on the network.

Answer: CD

NEW QUESTION 6
Where must the APs be mounted when used in a high-density wireless network to provide 6 dB to 20 dB of attenuation to a cell?

A. in the aisle

B. under the seat
C. above the stage
D. under the stage

Answer: B

NEW QUESTION 7

A company wants to replace its existing PBX system with a new VolP System that will include wireless IP phones. The CIO has concerns about whether the
company’s existing wireless network can support the new system. Which tool in Cisco Prime can help ensure that the current network will support the new phone
system?

A. Location Readiness
B. Site Calibration

C. Map Editor

D. Voice Readiness
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Answer: D

NEW QUESTION 8

A rapidly expanding company has tasked their network engineer with wirelessly connecting a new cubicle area with Cisco workgroup bridges until the wired
network is complete. Each of 42 new users has a computer and VolP phone. How many APs for workgroup bridging must be ordered to keep cost at a minimum
while connecting all devices?
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Answer: A

NEW QUESTION 9

Refer to the exhibit. A client roams between two APs that are registered to two different controllers, where each controller has an interface in the client subnet.
Both controllers are running AireOS. Which scenario explains the client roaming behavior?

A. Controllers exchange mobility control messages (over UDP port 16666) and the client database entry is moved from the original controller to the new controller.
B. Controllers do not exchange mobility control messages (over UDP port 16666) and the client database, entry is not moved from the original controller to the new
conrtoller.

C. Controllers exchange mobility control messages (over UDP port 16666) and a new client session is started with the new controller.

D. Controllers exchange mobility control messages (over UDP port 16666) and the client database entry is tunneled from the original controller to the new
controller.

Answer: A

NEW QUESTION 10
An engineer has performed a predictive site survey for high-speed data and voice in an indoor office. What is the recommended data rate with -67 dBm signal level
for optimal VoWLAN design?

A. 6 Mbps on 802.11 bgn
B. 24 Mbps on 802.11 bgn
C. 12 Mbps on 802.11 an
D. 24 Mbps on 802.11 an

Answer: B

NEW QUESTION 10
A wireless network consultant must assess an existing wireless LAN controller. Which section must the consultant check before replacing the old APs with APs
that are IEEE 802.11ac-capable?

A. number of AP licenses
B. controller PSU

C. throughput capacity

D. software version

Answer: A

NEW QUESTION 12
A customer is concerned about mesh backhaul link security. Which level of ecnryption does the backhaul link use?

A. hash
B. AES
C. WEP
D. 3DES

Answer: B

NEW QUESTION 15
An engineer must speed up the reauthentication delays that are being experienced on the wireless infrastructure by deploying a key-caching mechanism. Which
mechanism must be configured?

A. PEAP

B.FT

C. PMF

D. GTK-randomization

Answer: B
NEW QUESTION 19
A customer is running a guest WLAN with a foreign/export-anchor setup. There is one anchor WLC in the US and two in Europe. Anchor WLC priorities are used to

prefer local anchors. During a routine network audit, it is discovered that a large number of guest client sessions in the US are anchored to the WLCs in Europe.
Which reason explains this behavior?

Your Partner of IT Exam visit - https://www.exambible.com



We recommend you to try the PREMIUM 300-425 Dumps From Exambible
exam blb|@ https://www.exambible.com/300-425-exam/ (100 Q&AS)

A. The foreign WLC failed and recovered.

B. The US anchor WLC failed and recovered.

C. The US anchor WLC is anchored to itself with a priority value of zero.
D. The anchor WLC is in the same mobility group.

Answer: B

NEW QUESTION 22
An engineer is performing a predictive wireless design for a medical treatment environment, which requires data and voice services. What is the minimum
requirement for the design?

A. overlapping -72 dBm coverage from two access points
B. continuous -67 dBm coverage from one access point
C. continuous -72 dBm coverage from one access point
D. overlapping -67 dBm coverage from two access points

Answer: B

NEW QUESTION 26
A technician connects a Cisco Aironet 3700 Series access point to a switch and realizes that the AP is coming up with 3x3 MIMO. Which reason explains this
behavior?

A. A redundant power supply is unavailable on the switch.
B. The switch is 802.3af capable.

C. The AP is getting power from a power injector.

D. The switch is PoOE+ capable.

Answer: D

NEW QUESTION 29
A network engineer is working on a design for a wireless network that must support data, voice, and location services. To support these services, which access
point placement must the engineer use?

A. corner only

B. perimeter and corner
C. perimeter only

D. indoor and outdoor

Answer: C

NEW QUESTION 34
Refer to the exhibit. Which two statements about Cisco Prime Infrastructure are true? (Choose two.)

A. It presents the recommended number of APs for the selected coverage area based on the selections made.
B. Planning mode requires a special license in Cisco Prime Infrastructure.

C. It shows the map editor feature in Cisco Prime Infrastructure.

D. Controllers must be synchronized with Cisco Prime Infrastructure for planning mode to work.

E. It shows the planning mode feature in Cisco Prime Infrastructure.

Answer: DE

NEW QUESTION 37
A customer has noticed that Client Band Select is enabled and no clients are utilizing the 5 GHz band. Which three parameters must be met to ensure that
wireless clients use the 5 GHz band? (Choose three.)

A. Ensure that channel bonding is enabled on the WLAN.

B. Ensure that the co-channel interference has not exceeded -85 dBm.

C. Ensure tha the UNII-2 extended channels are enabled on the 802.11a radios.

D. Ensure that the client is receiving RSSI above the minimum band select RSSI threshold.
E. Ensure that the client is dual-band capable.

F. Ensure that the WLAN has 802.11a enabled.

Answer: CDE

NEW QUESTION 42
A wireless engineer is performing a post verification of a wireless network. Which two metrics does the engineer verify to ensure that the wireless network can
support voice services? (Choose two.)

A. The coverage area must have a noise floor that does not exceed -87 dBm.
B. The client device must have at least an -67 dBm RSSI.

C. The rate of retransmitted packets must be 15 percent or below.

D. The rate of retransmitted packets must be 20 percent or below.

E. The client device must have at least an -65 dBm RSSI.

Answer: BC
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NEW QUESTION 47
A university is in the process of designing a wireless network in an auditorium that seats 500 students and supports student laptops. Which design methodology
should the university implement in the auditorium?

A. roaming design model

B. voice design model

C. location design model

D. high-density design model

Answer: B

NEW QUESTION 51
What causes the most signal attenuation, based on the wireless design tools?

A. cinder block wall
B. metal door

C. glass wall

D. office window

Answer: B

NEW QUESTION 54

Multiple WLCs are implemented in a high-availability configuration in a mobility group. APs are deployed with only a primary controller assigned. By default, which
mobility group member controller do the orphaned APs join in the event of a failed controller?

A. controller with the most available AP free license capacity

B. controller with the lowest percent of associated APs per license capacity

C. controller with the least CPU utilization over the last reporting period

D. controller with the least number of associated APs

Answer: D

NEW QUESTION 58
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